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THE ANALYSIS OF BASIC MINE TECHNICAL FACTORS INFLUENCE 
ON AVERAGE RATES OF TUNNELS REALIZATION ON EMISSION 

DANGEROUS LAYERS. 
In clause the results of analytical researches connected to estimation of coordination in time and 

space of technological processes of tunnels realization with ways on struggle with sudden emissions 
coal and gas are given. The material of clause is based on most effective and widespread on mines 
of Donbass a way of struggle with sudden emissions - water forcing in layer in mode of hydroloos-
ening 

 
8�� ���������� �����������$��B� �B�
����� �� �B�������
��B� �$
��
� 

�
	
���) �	��� ������ �
�
��� ������������� �
��) �
���
����� �
��	��, ��-
���
( ������	�$
 �B �
 ����(����� ����� �$
��������� ���(�
 �����(��B* 
#���� �
��� � ���$)	�$
 �B ������� �
��( [%]. & ������ ���������( ����-
���(��* �� �������������) ����
��B� �B������ ��$( � �
�
 �� �����
 ������( 
��
���( ������	��� ����
��, �
���
)L�) � �
���� �
���, #������ �
���. & 
����������� U�� �
�������� ��� �
���� ����������* ����
�B � ����$����
��� 
������	����� ����
*���, �
� �
� ��� U��� ���$�	��
���( �������� ������
��( 
�
��( � 	
����
 ������
����� ����
�B ��-�
 ������������� �B��$����( �����-

$��B� �������(��*. 

& U��* ��(�� ������ ��(��� �� ������� � ������
����� �����$���	����� 
��������� �� ���������) �B�
����� � �������(��(�� �� �������������) 
����
��B� �B������ [2] ��$( � �
�
 � ��������B� ����������	����� ��$���(� 
����� ��$�?�� ��
���	����� ��
	����. 

���� ��������B ����$��
�B 
�
$���	����� ���$����
��* �$�(��( �����-
�B� #
������ �
 ����B ���������( �B�
����� � ���L����$����� �
���$�� U#-
#��������� � �
�������
������� �
 ?
��
� !���
��
 ������
 �������������( 
����
��B� �B������ ��$( � �
�
 – �
����
��( ���B � �$
�� � ������ ������B�-
$���(. 
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"�L����� ��(��� ������	����� �
��� � �������(��(�� �� ������ � ����
�-
�B�� �B����
�� ��$( � �
�
 �
�$)	
���( � �
�������� ��$�	��B ��U##�����-
�
 k7, �	��B�
)L��� ������� �������( �������� �������� �
 �	�� ����������-
��� �B��$����( �����
$��B� �������(��* �� �������������) ����
��B� �B-
������ ��$( � �
�
 � �
��������� �� ��������B� ��$���*. \��� ��U##������ 
�����$(�� ������$��� ����
��B� �B�������B� ������� � �
��� � �$
�����
�� 
�����������)L�* #���� �
��� ����
�� �
 U��� ������. 

& ��L�� ���� ���(	��) �������� ���������( �B�
����� � ���L����$����� 
�������(��* �� �������������) ����
��B� �B������ ��$( � �
�
 V� ����� 
������$��� �� �B�
����(: 

 
V� = V� · k7 ,      (%) 

 
���  V� – �����$���	����� ����B ���������( �B�
����� � ���(�, �. 

@�U##������ k7 ����� �B�� ������$�� �� �B�
����(: 
 

k7 = 
��

�

tt
t
+

,      (2) 

 
��� t� – �����$����$������ �������� % � �B�
����� ��� �����
$��B� ����-
���(��*, 	; t� – ���$��B� �
��
�B ������� �
 ���L����$���� ����$���
 ����-
���(��* �� �������������) ����
��B� �B������ ��$( � �
�
, ��������B� � % � 
��������, 	. 

8����$����$������ 	����* �������� % � �B�
����� ������$(���( �� �B�
-
����(: 

 
t� = t
 · D/ V� ,      (3) 

 
��� t
 – 	��$� �
��	�� 	
��� � ����
�; D – 	��$� �
��	�� ���* � ���(��. 

8����$����$������ t� �$
�
���( �� ���$��B� �
��
� ������� �
 ������� 
���
��� ������B�$���( t���, �
����
��( � ��� ���B t����, �������	����� ����-
�B��� � �
����
��� � ������ ������B�$���( ���$����� �
����
 t��� � �������-
����$���-�
�$)	���$��B� ����
��* ��� ������� ���
��� � �
����
��� ���B 
t��, ��������B� � % �  �������� �B�
����� 

 
t� = t��� + t���� + t��� + t��    (4) 
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�B ������� �
 ������� ���
��� ����� �B�� ������$��B �� �B�
����(: 
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��� t���� – �
��
�B ������� �
 ������� % � ���
���B (�	��B�
)��( �������
-
��$��B� ����
��� �� ����( ������(), 	; n

 – 	��$� ���
��� � �
���; L

 – �$��
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���
���, �; �� – ������
��B* �
�
� �� �$��� ���
���B � �������* �� 	
��� 
��� ������� �
��( �B�
�����, � ������* ��������( ���L����$���� ������ ���$
 
�������(��* �� ������ � ����
��B�� �B����
�� ��$( � �
�
, �. 

���$��
( �����$����$������ �
����
��( ���B � ���
���� t���� ������$(���( 
�� �B�
����(: 

 

t���� = ,
3

0

�−



����

L
t       (6) 

���  t0
���� – ��L
( �����$����$������ �
����
��( ���B � ��	���� ������ ���$
 

��$
�����(, 	. 
8� �
�	����* �����, ������
�$����* �
 ���. %, ����� ������$��� ������-

���B* ��Y�� ���$����� �
����
, �������
��B* ������B�$���) �
 ���� ���$ 
�������(��* (Q) 

 

Q = L

 · m · (�� + 2?�), �3,    (7) 
 

��� m – ���$���	���
( ��L����� ���$����� �$
��
, �� ������* ���������( �B-

�
����
, �; �� – ?����
 �B�
�����, �; ?� – �����
$��� ��������
( ���
 �����-
�B�$���( �$
��
 �� ���� ������� �B�
�����, ���$� ������* �
���?
���( �� 
����������, �. 

 

 
 

'��. % – '
�	���
( ����
 �$( ������$���( ��Y��
 ���$����� �
����
, �������
����� ��$
�-
����) ��� ���������� �����������$��B� �B�
�����. 
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� ������� �
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n1
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=
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⋅⋅ γγ )2(�
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��� � – ��Y���B* ��� ��$(, �/�3; Np – �����
$��
( ����
 �
����
 ���B �
 % � 
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��$
��(����� �
����
, �3; 1� – �����������$������ �
�����* ���
�����, �3/	; 
n� – 	��$� ������������ ��*����)L�� �
����B� ���
�����. 

!$( ���B?���( U##���������� ������B�$���( ���$����� �
����
 �������-
�����( �������	�� ����
��
�� �����B�B � �
����
���. 8����$����$������ ��-
���B���, ��������
( � % � ��������, ����
�$(��: 

 

t��� = ,
3�−
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L
t       (9) 

��� t	
��� = t�

��� · n��� – ��L
( ��$�	��
 �����B��� � ��	���� ������ ���$
 �����-
�B�$���( (	), �
���(L
( �� �$���$������ ������ �����B�
 t�

��� � 	��$
 �����B-
��� n���. 

A��$� �����B��� � ��	���� ������ ���$
 ������B�$���( ������$(���( �� 
�B�
����(: 

 
n��� = t	

���� /tc – tp
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)� ����
�-������
� ����$���* t�.�. � �
�����* t�

�.�. ���
�����. 
&B�
����� �
��
� ������� �
 ���L����$���� ������ ���$
 �������(��*, 

��(�
��B� � ������B�$����� ���$����� �
����
 � ��������B� � % � �������-
��* �B�
�����, ���$� �����������)L�� ������
���
��* ��$�	
�� �$���)L�* 
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��
$�����( �B�
����� (%4), �������, 	�� ��� ���������� �B�
����� �� 

�B�������
��B� �$
��
� � ����������� ������B�$���( ���$����� �
����
 
���(	�
( �������� �������� �
����� �� �����$���	����* �������� ��������, 
�����
 �
���B �����������$��B� �
���� � �(�
 ����������	����� #
������. @ 
U��� #
����
� �����(��( �$��
 � 	��$� ���
���, �������� �� ������(, ��L-
����� ���$��B� �$
����, �� �����B� ������(��( �B�
�����, ��Y���B* ��� ��-
$(, �
����B ������	�B� ��	���* �����������$��B� �B�
�����, ���������-
��$������ � 	��$� �
����� �$( �
����
��( ���B. 

��
$�� ��$�	���B� �
���������* �$( ?
�� !���
��
 �����$�$ ��$�	���-
����� ������� �$�(��� ������B� ����������	����� � ���
���
�����B� #
���-
��� �
 �����)) �������� ���������( �B�
����� �� �B�������
��B� �$
��
�. 
���
���$���, 	�� ������� �����
��$����� �$�(��( �������(��* �� ���������-
�� ���$����� �
����
 	���� ���
���B �
 ������� ����B �������� ����� ���-
�
��
�� � ���$�	����� �
������ �
 �����������$��B� �
���. 

I
�, �
������, ��� ������� �� �
���*�� �����$���	����� ��$���(� �����-
����( �B�
����� � �
���$�� �
�������
����B� �
�
����
� ������B�$���( 
���$����� �
����
 ���$�	���� �����$���	����* �������� �������� �� %00 �� 
300 � �B�B�
�� �����?���� ������* �������� (� �	���� ��������, ��(�
��B� � 
���L����$����� �������(��* �� ������ � ����
��B�� �B����
��) � %,49 �� 
2,78 �
�
 ��� �
����
��� ���B � ���� ���
���� � � %,47 �� 2,34 �
�
 – 	���� ��� 
���
���B. '
����B ������	�B� ��	���* �� ��
�B�
)� ��L��������� �$�(��� 
�
 ����B ��������. 8�� Vm = %00 �/���. ���$�	���� ?����B �B�
����� � 3 �� 
6 � �����?
�� �����)) �������� �������� � %,%3 �
�
, 
 ��� Vm = 300 �/���. – 
� %,%8 �
�
. 

"������ ����B �������� �����$��� ���$�	��
)��( � ���������� ��Y����-
�� ���
 ��$(. 8�� ��� ���$�	���� � %,5 �
�
, �.�. � % �� %,5 �/�3, ������� ����B 
�������� �����?
)��( � %,%2 �
�
, ��� Vm = %00 �/���. � � %,%7 �
�
 ��� Vm = 
300 �/���. 

�
���$�� ��
	���$���� �$�(��� �
 ������� ����B �������� ��
�B�
�� ���-
$���	���
( ��L����� �$
����. 8��	�� ������� U���� �$�(��( ����� ����
��
�� 
��� ���$�	���� �
������ �
 �����������$��B� �
���. I
�, � ���$�	����� ��L-
����� ���$��B� �$
���� � % �� 4 � ��� Vm = %00 �/���. �����(( �������� ���-
����� � ������B�$����� �
����
 	���� ���
���B � ��� ���	�� ������� �����-
�����	����� ��$���(� �����?
���( � 78 �� 59 �, 
 ��� Vm = 300 �/���. – � %58 
�� 72 �/���. 
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8�� �
$B� �
�����
� �
 ����
*� �$�(��� �$��B ���
��� �
 �����)) ���-
����� �������� �����
 ����
	���$���. 

" ���$�	����� �$��B ���
���B � 2 �� %0 � � Vm = %00 �/���. �����(( ���-
����� �������� ����
��
�� ����� $�?� � 66 �� 72 �/���., 
 ��� Vm = 300�/���. � 
95 �� %%4 � /���. \�� ��Y(��(���( ��������$��� ����$�?�* ���$���* ��$�	�-
��* �
��
� �
 ���������� ���
��� � �
�
	�� ���B (���(��
 20-23% ��L�� �
-
��
� �
 ���L����$���� ����� ���$
 �������(��*), 
 �
��� ���, 	�� � ���$�	�-
���� �$��B ���
���B ����
��
�� � ���$��
( �����$����$������ ������( % � 
���
���B, 	�� ����� �� �$���)L��� �B�
����(: 

 
t´��� =0,066 + 0,0004 L

, 	.    (%5) 

 
��
$�� U��* �
��������� ���
�B�
��, 	�� ��� ���$�	���� �$��B ���
���B 

� 2 �� %0 � ���$��
( �����$����$������ ������( % � ����
��
�� � 4,4 �� 6,3 
���. 

"���
L���� �
��
� ������� �
 ������B�$���� ���$����� �
����
 ������
-
���( ��� ������������* �
�
	�� ���B 	���� ��� ���
���B. =��
��, � ����� ��� 
�
$�* �
������ �
 �����������$��B� �
��� ��$�����$���� �$�(��� �� ���$�-
	���( 	��$
 ���
���, �� �����B� ���L����$(���( �
����
��� ���B, ����L���-
�����. =�� ����
��
�� � %,%5-%,25 �
�
 ��� ���$�	����  �����$���	����* �����-
��� �������� �� 200-300 � /���. 

!$( ������ ������������ �$�(��( ���� ����������	����� #
������ �
 
������� ����B �������� �B�
����� � �B���
 �
���$�� �
����
$���* 
�����$���	����* �������� �������� � �
�
������ ������B�$���( ���$����� 
�
����
, ��� �����B� ������	��
���( ��$�
( ��(��
 �� ������� ������	����� 
�
��� � �������(��(�� �� �������������) ����
��B� �B������ ��$( � �
�
, 
�� ��$�	���B� �
��������(� �B$� ��������B ������
��B �$( ������$���( k7 
� V� � �
��c������ �� ��������B� ��$���* (���. 2 � 3).  

 
������
��B ��������B � �	���� �$���)L�� ������B� �
��B�: 

Vm = %00-300 �/���; m = %-4 �; ?� = 6 �; 

�� = 3-8 �; L

 = 2-%0 �; N� = 0,02 �3/�; 

® = %-%,5 �/�3; n

 = %-2; 1� = %,4 �3/	; 

�� = 2 �;  t��� = 6 	;  t�
�.�. = 2 	;  t���

�.�. = %,5 	;  D = 2% ����. 
 
������
��
 �$( ������$���( k7 �����$(�� ��?
�� � ���
���) �
�
	�, 	�� 

�����
 �
��� �$( ��(��� ���
���
��� �
��� �� �������� �B�
����� � ����-
���(��(�� �� �������������) ����
��B� �B������ ��$( � �
�
 � ����B* ���-
��$���	����* ���$. 

C���$���( ������
���, ����� �����
 �
�
���( �
����
$���* ��$�	���* k7 
� � �
��������� �� ��������B� ����������	����� ��$���* ������$��� ������-
���B� �
������ �
 �����������$��B� �
���, ��� �����B� ����� ����
�B �$
��-
���(��B� ��$���( �$( ���
���
��� ������	����� �
��� � ��(��� �� � ����-
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���(��(�� �� ������ � ����
��B�� �B����
�� ��$( � �
�
. 
 

 
 

'��. 2 – ������
��
 �$( ������$���( ��U##������
 �������( �������� ���������( �B�
-
����� � ��$
������� ���$����� �
����
 	���� �������B� ���
���B. 
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'��. 3 – ������
��
 �$( ������$���( �������� ���������( �B�
����� � ��$
������� 
���$����� �
����
 	���� �������B� ���
���B. 

 
'�
$��
��( ��$�	���B� �
���
��	����� �
���������* ����� �$����� ��-

����* �$( �
��
����� �
����
$���* �����$���� ���������( �B�
����� � ���-
L����$����� �������(��* �� �������������) ����
��B� �B������ ��$( � �
-
�
. 

 
"8C"=@ >CI<'�I�'` 

%. 8���$��B �
��
����� ����B� � ������
�$���B� �$
���� �
 ��$�?�� �$����
�: �	����� ������� �$( 
����� / ��� ��L�* ���. ".".���������
, ".&.V��� – !�����: =�= «����I\@», 2002. – 288 �. 
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2. 8��������( �
 ����$�
�
��( ��������
$���� �����	�� ������� �
 ?
��
� � ������ �
 ����$�� �
$(�
�-
�(� ����$���� �$
����: �
�	
$���* �������� �$( ����� / 8�� ���
���9) ".".����������
: !������, @8 “'�����”, 
200% – 4%0 �. 
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�������� ����
� ������ �����������������  
��������� � �����
 ��������� �������� ������
���  

� ��
�!�� 
'���$(���� �
���
��	�� ����$� #���	��� ��������, (�� ������
)���( � ������������ �
 

�
����	��
$���� 
�
�
�
� �������
��������� ���
����� �$( �����$���� ��
���
��*���� ��
�
-
	���( �������� ���������$���� �
 ��$����
$���� ���. �
 ������ �
��������
��� ����$�* ��-
�����
�������
 ���
����
 ����$(�
9���( (� 9���
 ����
�$�	�
 �����
, L� ��$
�
9���( � ���� 
�
����	��
$���� 
�
�
���, �’9��
��� �
������ �������������. 

THE HYDROTRANSPORT PLANT WORKING CONDITIONS’ 
SIMULATION TAKING INTO ACCOUNT THE HYDRAULIC LIQUID 

CONCENTRATION PROCESSES IN SUMPS 
The mathematical models of physical processes which take place in the pipelines and accumu-

lating apparatuses of hydrotransport plants that are used in the gravity separation technologies of 
rare-earth and complex ores alluvial deposits are considered. According to offered models the hy-
drotransport plant is considered as integrated hydraulic system which consists of two accumulating 
apparatuses that are connected with the pressure pipe. 

 
"�L������
��� �
 ���������� ���
��B ����B��B� ������������* �����-

����$��B� � ��$����
$$�	����� ���, ������������* 	���B� ���
$$�� � �
-
������� ��$(, 
 �
��� �B����* ���������$����* ����� �
 ���
$$�����
� � ���-
�����
�B U���� �����
$����� �B��( �
 �����B� �B��
� ������$()� 
���
$�-
����� ��������
��� � �����?�������
��( �����$���* �� ���B	� � �����
���-
�� � �
��
�$���� ���B?���( �����������$������. 8�� U��� ����?�
( �����-
�����( � �
������B�� ��������B�
)L��� � ���
$$����	������ ����
��(�� 
�������
 ��$��� ��� ��$���� ��������( �������- � U�����������
)L��, U��$�-
��	���� �����
��B� �����$���*, ������	��
)L�� ���B?���� �
�������� � 
U##���������� �������
 �����
����� ��� ���$�	���( �
���
$��B� � U���$�
-
�
�����B� �
��
� [% - 5]. 

��
$�� #���	����� ��������� � �����$���	����� ��?���*, 
 �
��� �� U��-
��������
$��
( �������
 � ��$���(� ����B� � ���$��B� ����
����$��B� #
�-
��� ���
��B ���
�B�
)�, 	�� ��������
��( �����$���* ����
L���( ����-
�
$����� �B��( �
���$�� �����������
 �
 �
�� ��
���
�����B� ������� ���-
�
L���(, �����B� ������	��
)� U��$���	����) �����
������ � ����������) 
������� ���$�	���( ������� ���������
 ��� ������ ������ U����- � �������-
������� [3 - 7]. 

=�����B�� �����$���	������ �����(��, ��$
�
)L��� �������
$�� �$( 
��������
���, (�$()��( ��
�������B� ������B, ������	��
)L�� ��$������
-
���
��� � ����
��� ����B��* � ����� �����
�����. '����B � �
�
����B �
�-


